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Method preconditioned by Incomplete Cholesky Factorization�����������������

��������������������������������������� ICCG
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reordering��������������������������� OpenMP�������

������������������� 

���������3,4,5,6��������������������������� 2 �

���������������OpenMP������������7,8��������� 
�����������������������������
1 http://nkl.cc.u-tokyo.ac.jp/12e/05-Multicore/�  
2 http://www.cc.u-tokyo.ac.jp/support/kosyu/31/ 
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� �����

������������������������� � �� � � �bA ��  ������������

��8��������[A]����������������8�����{b}��������

��8���������������� i ��������������� 6 �������

����[A]���sparse�������� 

�  

��ICCG������
��8������������������ � �� � � �bA �� ����������������

�Iterative Method���� Krylov �������������������������9��

����[A]����7��������������������Symmetric Positive Definite�

��������������������������Conjugate Gradient Method�CG��

�������7��Krylov������������������������������

��������������� 1��������������������������

�[M]������ � � � � �AMA 1~ �� �� � � � � �bMb 1~ �� ����[M]-1����������������

�� � � }~{}{~ bA �� �������������������[M]-1 �[A]-1 ����������

���� � � � � � �AMA 1~ �� ���������������������������� CG��

������������� 1������� 
 

compute {r}(0)={b}-[A]{x}(0)

for i= 1, 2, … 
    solve [M]{z}(i-1)={r}(i-1) 
    �i-1= {r}(i-1) {z}(i-1) 
    if i=1 
      {p}(1)={z}(0)  
     else 
      �i-1= �i-1/�i-2 
      {p}(i)={z}(i-1) + �i-1{z}(i) 
    endif 
    {q}(i)=[A]{p}(i) 
    �i  = �i-1/{p}(i){q}(i) 
    {x}(i)={x}(i-1) + �i{p}

(i) 

    {r}(i)={r}(i-1) – �i{q}
(i) 

      check convergence |r| 
End 

��� 1   ����� CG��������Conjugate Gradient Method�������� 

 

����������������������� LU���Incomplete LU Factorization�ILU�

��������LU ���[A]=[L][U]�������������������������

������������������������direct method������������

������������������������[A]����������[L]�[U]���

������������� 0��������������fill-in������������

��LU������ fill-in����������������� � � � �� � � �� �AULM ��
~~

������

������ILU(0)������ fill-in���������� fill-in�������������

�������������ILU(0)�������[A]������[M]����������

������ 

�������� LU���������������������Cholesky Factorization�

���������������������������������Modified Cholesky 

Factorization����������������������������[A]=[L][L]T����
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���������[A]=[L][D][L]T���������� 
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� �����

����������������������������

�����IC��������������������CG

������� ICCG������� 

� � � � � � CG �� � �� � � �� � � �rzLDLzM T �� ~~~
���

�� � � � � �rLDLz T 1�
� �������

�

� ����� � �� � � �ryL �
~

�

� ����� � �� � � �yzLD T �~~
�

�

�������{z}�������

 

���� ��� �����������������

� ����� CPU������������������5���������������

�����������Fortran ���C �������������������������

�������������������������������������������

������ 

�����������������������������������������

���������������������������� Compressed Row Storage�CRS� 

������������������� 1������������ 

 

� 1 Compressed Row Storage�CRS���������� 

��� � � � 

D(i) 
����� �����i=1~ICELTOT 

�ICELTOT�������� 

B(i) ����� �������i=1~ICELTOT 

indexL(i),indexU(i) 
�� �����������i=0~ICELTOT 

��������CRS� 

itemL(k), itemU(k) 

�� ����������������� 

��������CRS� 
i=0~indexL(ICELTOT), indexU(ICELTOT)

AL(k), AU(k) 

����� ��������� 

��������CRS� 
i=0~indexL(ICELTOT), indexU(ICELTOT)

 

� 1���� CRS���������������������������� CG����

��������[A]{p}={q}������������� 2������� 

�����������������������������
3 http://nkl.cc.u-tokyo.ac.jp/files/multicore-f.tar 
4 http://nkl.cc.u-tokyo.ac.jp/files/multicore-c.tar 
5 http://nkl.cc.u-tokyo.ac.jp/12e/05-Multicore/�  

j i

j

j i

j

� 4� ������������

����������� 
����������� i��� j���
�� k�������� i� j�����
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� �����

do i= 1, ICELTOT 
        VAL= D(i)*p(i) 
        do k= indexL(i-1)+1, indexL(i) 
          VAL= VAL + AL(k)*p(itemL(k)) 
        enddo 
        do k= indexU(i-1)+1, indexU(i) 
          VAL= VAL + AU(k)*p(itemU(k)) 
        enddo 
        q(i)= VAL 
      enddo 
��� 2   CRS�������������������������[A]{p}={q}��� 
 

 
� ������� �= {r}{z} 
 
����������
�����������������
�����������������������
������
 
 

����������
��������������������������������
�������������������������
�����������������
�����������������������
������
����������������������
 

� ������������ {p}= {z}+�{p} 
 
�����������������
�������������������������
������

 
 

��������������������������������
�����������������
�����������������������
������
����������������������
 

� �������� {q}= [A]{p} 
 
�����������������
���������������

���������������������������������
���������������������������������
��������
���������������������������������
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���������������������������������
���������������������������������
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��� 3   �������������������������� OpenMP������ 
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� �����

������� � �� � � �� � � �rzLDLzM T �� ~~~
���������� 5������������� 

���������DD�z�������������������������� DD�z

���������� 5�a����� 16���������������� 5�b�����

4������������������������������������� 5�c��

������������������������������������������

�������������������������������������������

����� OpenMP���������������������������������

������������������������������������������

����������� DD(k)� z(k)�����DD(i)� z(i)������������

������������������������������������������

������������=��������reordering�����������������

�����������4,6������������������������������� 

�

      do i= 1, ICELTOT 
        VAL= D(i) 
        do k= indexL(i-1)+1, indexL(i) 
          VAL= VAL - (AL(k)**2) * DD(itemL(k)) 
        enddo 
        DD(i)= 1.d0/VAL 
      enddo 

��� 4   �������������� 
      do i= 1, ICELTOT 
        z(i)= r(i) 
      enddo 
����� � �� � � �ryL �

~  
      do i= 1, ICELTOT 
        WVAL= z(i) 
        do k= indexL(i-1)+1, indexL(i) 
          WVAL= WVAL -  AL(k) * z(itemL(k)) 
        enddo 
        z(i)= WVAL * DD(i) 
      enddo 
����� � �� � � �yzLD T �~~  

      do i= ICELTOT, 1, -1 
        SW  = 0.0d0 
        do k= indexU(i-1)+1, indexU(i) 
          SW= SW + AU(k) * z(itemU(k)) 
        enddo 
        z(i)= z(i) - DD(i)*SW 
      enddo 

��� 5   ������ 

 

 

 

 

 

 

 

�a�����     � �     �b�4������������ � � � �c���������������  

� 5� ������������������ 

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 1

5 5

9 9

13

�

�
1 1

5

1

5 5

9

5

9 9

13

9

13

�

�

do i=1,4
…
enddo

do i=5,8
…
enddo

do i=9,12
…
enddo

do i=13,16
…
enddo

do i=1,4
…
enddo

do i=5,8
…
enddo

do i=9,12
…
enddo

do i=13,16
…
enddo
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� �����

�������� �������

�����������������

��������������������������� 5�������������

������������� z(itemL(k))�����z(i)���������������

����������������.�������������������coloring����

������������������������������������������

������4,6��� 5���� 16������� 6�a��������2��������

�������������������������������Red-Black Coloring���

���red�����������1,3,6,8,9,11,14,16��� 6�b����������gray��

����������������������������������black������

��������� 6�c������������� 
 

�

�

�

�

�a�Red-Black Coloring         �b�red���������     �b�black��������� 

� 6� Red-Black Coloring�� 

�����

      character*5 COLOR(N) 
        COLOR(i)= ‘RED--’ (if i= 1,3,6,8, 9,11,14,16) 
        COLOR(i)= ‘BLACK’ (if i= 2,4,5,7,10,12,13,15) 
�

���� COLOR������������� 5��������������� 6������

����������������������������������� 8������

�������������red�����������������black����������

���black�����������������red����������������red�

black����������������������������������������

������������������������������������������ 

� ��������� 7�������������������������������

��������������������� 7����� 7� COLORindex(:)������

��������������������������� 7������� 

 
COLORindex(0)= 0 
COLORindex(1)= 8 
COLORindex(2)=16 

 

����1�8������� 1��red�����COLORindex(0)+1=1�COLORindex(1)=8��

9 ��� 16 ������� 2 �� black�������� COLORindex(1)+1=9�

COLORindex(2)=16���������������������������coloring�����

������������reordering��������������������������

�����������������������2 ������������������

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16
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4 5 6 7

8 9 10

1 2 3

4 5 6 7

8 9 10

1 2 3

���������������Multicoloring�MC��������������� Red-Black

�����2��MC������������������������������� 

 

 

 

 

 

 

� 7� Red-Black��� 
      do i= 1, ICELTOT 
        if (COLOR(i).eq.’RED  ’) then 
          WVAL= z(i) 
          do k= indexL(i-1)+1, indexL(i) 
            WVAL= WVAL -  AL(k) * z(itemL(k)) 
          enddo 
          z(i)= WVAL * DD(i) 
        endif 
      enddo 
       
      do i= 1, ICELTOT 
        if (COLOR(i).eq.’BLACK’) then 
          WVAL= z(i) 
          do k= indexL(i-1)+1, indexL(i) 
            WVAL= WVAL -  AL(k) * z(itemL(k)) 
          enddo 
          z(i)= WVAL * DD(i) 
        endif 
      enddo 

��� 6   �����Red-Black Coloring������������� 

 
      do icol= 1, 2 
        do i= COLORindex(icol-1)+1, COLORindex(icol) 
          WVAL= z(i) 
          do k= indexL(i-1)+1, indexL(i) 
            WVAL= WVAL -  AL(k) * z(itemL(k)) 
          enddo 
          z(i)= WVAL * DD(i) 
        enddo 
      enddo 

��� 7   �����Red-Black����� 

 

���������������������������������������

����������������� Cuthill-McKee���� CM���Reverse Cuthill-McKee 

��RCM���9���������������������

���������������� LU ������ fill-in �

�������������������������9���

����������������������������

���������������� 

CM ��� 8 ���������������������

���������������������������level�

����coloring ��������������������
� 8�������

1 9 2 10

11 3 12 4

5 13 6 14

15 7 16 8

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16
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� ������

��������� CM��������� 9�� 

 

������ 1�CM������������ 

� ���������������degree��������������=1������� 

� ����=k-1�����������������=k���������������

�������k�� 1������������ 

� ���������������������������������������

������������ 

 

 

�

�

�

�

�

� � � � ����������� � � � � �� �� � � � � � � � ������������ � � � ���������������

�

 

 

 

 

 

�

������ 

� 9   Cuthill-McKee��CM���� 

 

RCM��� 9��� CM��������������������LU���� fill-in��

����������������������������9������� 5�a�����

16����������fill-in������ 44����� 10�a���b�����������

�� 7����� 10�a���b�����������������������������

������������� Hyberline������ Hyperplane��������4,6,9�� 

 

 

�

�

�

�

�

�a�CM�� � � � � � � � � � � � � � � �        �b�RCM� 

� 10   CM��RCM����������������fill-in���� 44�� 

4 5 6 7

8 9 10

1 2 3

4 5 6 7

8 9 10

1 2 3

4 5 6 7

8 9 10

1 2 3

Level=1 Level=2 Level=3

Level=4

4 5 6 7

8 9 10

1 2 3

Level=1 Level=2 Level=3

Level=4

2 4 8 9

6 7 10

1 3 5

Level=1 Level=2 Level=3

Level=4

2 4 8 9

6 7 10

1 3 5

Level=1 Level=2 Level=3

Level=4

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

1 2 4 7

3 5 8 11

6 9 12 14

10 13 15 16

1 2 4 7

3 5 8 11

6 9 12 14

10 13 15 16

16 15 13 10

14 12 9 6

11 8 5 3

7 4 2 1

16 15 13 10

14 12 9 6

11 8 5 3

7 4 2 1
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
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� ������

�������� CM�������������������������������

������������������� 

 

������ 2������ CM�������� 

� �������������������������������=1��������

� ����=k-1����������������=k����������������

���������������������������������������

����������������������������������������

���������k�� 1������������ 

� ������������������������������� 

�

� 8�������������� CM�������CM������������� 11

�������������� 4�� 6��������� 9����2,4,5��������

������������� 11���5�������������� 

� 5�a���������� 12� CM����������������MC�� CM�

��������CM ��������������������������������

��������������������������� 

MC��������������������������������ICCG�����

����������������������������������� CM��RCM�

������������MC���������1�� 

�

�

�

�

�

�

�

�a���������                                �b�CM� 

� 11� ����� CM����������� 

3 5 6 8

7 9 10

1 2 3

5

4

3 5 6 8

7 9 10

1 2 3

5

4

4 5 6 7

8 9 10

1 2 3

5

3

4 5 6 7

8 9 10

1 2 3

5

3
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�

�

�

�

�

�

�������������������������������������������������������������

�

�

�

�

�

�

��������������������������������������������������������������

�

�

�

�

�

�

���������������������������������������������������������������

� 12� ����� CM����������� 

 

��������� ����������

� 2� ���������� 
������ � � � 

NCOLORtot �� ������� 
COLORindex �� �����������������������

i=0~NCOLORtot�COLORindex(icol-1)+1��
COLORindex(icol)������ icol����
�����������

NEWtoOLD(i) �� ��������������i=1~ICELTOT 
OLDtoNEW(i) �� ��������������i=1~ICELTOT 
PEsmpTOT �� ����� 
SMPindex(k) �� �����������������������

����k= 0~NCOLORtot*PEsmpTOT 
SMPindexG(k) �� �����������������������

����k= 0~PEsmpTOT

 

� 1�������������������� 2�������SMPindex������

�������������������������������������������

����������������������� 13������������������

� 5����������������������������� 8����������

����������8 �������������������������������

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

1 2 4 7

3 5 8 11

6 9 12 14

10 13 15 16
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� ������

������������������������������������������

���������������������������������������PEsmpTOT

�� 1�����PEsmpTOT����������� 8 ��������������

�SMPindex�����������������������do ip= 1, PEsmpTOT���

����������������������� 9� 10����������������

���������� OpenMP������������� 7����� 1��������

��������� 

���SMPindexG���������������������������������

�������������������������������������������

������������������������������������������

�������������������������������������PEsmpTOT

�� 1����� 

 

 

 

 

 

 

 

 

� 13� ���SMPindex��������� 

 
�������������������
��������������������������
���������
��������������������������� � � � � � � � � � � � � ���������������
����������������������������������
�������������������������������������������������
������������������
����������������
�������������� � � � � � � � � � � � � � � � � � � ����������������
������������
�������������������

��� 8� ���SMPindex������ 
��������������� �����������������������

��������������������
���������
���������������������������
������������������������������������
�������������������������������������������������
����������������������
����������������������������
�������������������������������������������������������
������������������
������������������������������
����������������
��������������
������������
�������������������

��� 9� ����������������� OpenMP������ 

Initial Vector

color=1 color=2 color=3 color=4 color=5Coloring
(5 colors)
+Ordering

color=1

1 2 3 4 5 6 7 81 2 3 4 5 6 7 8

color=2

1 2 3 4 5 6 7 81 2 3 4 5 6 7 8

color=3

1 2 3 4 5 6 7 81 2 3 4 5 6 7 8

color=4

1 2 3 4 5 6 7 81 2 3 4 5 6 7 8

color=5

1 2 3 4 5 6 7 81 2 3 4 5 6 7 8
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���������������������������������������
��������������������������
���������
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������������������������������������
�������������������������������������������������
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����������������
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������������
�������������������
�
��������������������������������������
������������������������������
���������
���������������������������
������������������������������������
�������������������������������������������������
������������������������
�������������������������������������������
���������������������������������������������
������������������
������������������������������������������
����������������
��������������
������������
����������������������

��� 10� �������[M]{z}={r}������ OpenMP������ 
 
��� 11 �����������������SMPindexG��������������

���������do ip= 1, PEsmpTOT�����������������������

��� 12���� 13���� 14���������������������������

����������� OpenMP������������� 3������������ 1

�������������� 
 

����������������������
�������������������

�����������������������������������������������
����������������
��������������
������������
����������������������

��� 11� ���SMPindexG������ 
 

���������������
������������������������������������������������
�������������������������
������������������������������������������������
���������������������������������
��������������
������������
����������������������
�
��������������������� 

��� 12� ���������= {r}{z}������ OpenMP������ 
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�������������������������
������������������������������������������������
���������������������������������������
��������������
������������
��������������������� 
��� 13� ������������{p}= {z}+�{p}������ OpenMP������ 

 
�������������������������������������
�������������������������
������������������������������������������������
���������������������������
�����������������������������������������
�������������������������������������������
����������������
�����������������������������������������
�������������������������������������������
����������������
����������������������
��������������
������������
��������������������� 

��� 14� ��������{q}= [A]{p}������ OpenMP������ 

 

 

�� 2��7������� 
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